There was an old woman who lived in a shoe.
She had so many children, she didn't know what to do...

All her children were named "y", so when she called them to lunch,
She'd call out "y" and all the children would come in a bunch.
But when she wanted just one child to come with to the store
If she called out “y", all the children rushed to the door.
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What to do the old woman thought?
She gave them new names and that helped a lot!
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Function notation is used to rename each equation. The area of a circle is represented by a(r) = nr?
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To find the area of a circle with a radius of 10, we would change the input of » to 10.
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If a circle has a radius of

Evaluate each function for the indicated value.
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Show your work.
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Function notation is also handy when more than one equation is graphed on the same coordinate plane.
You can just label the graphs with the function name instead of the whole equation.
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